4/H-65 (xi) (Syllabus-2015)

2017
¢ April )
BUSINESS A_DMINISTRATION
( Honours )
' ( Financial Management )
( BBAH-402 )
AMarks, : 75
n Time : 3 hours
The figures in the margin indicate full marks
for the questions

PART—A
(Marks: 15)

UNIT—I

1. Outline any three key activities of a financial
manager. 3

Or

A sum deposited at a bank fetches ¥ 14,898
after 4 years at 14% simple interest. Find out
? the principal amount.
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UNIT—II

2. g:ﬁon three uses of capital budgeting for a

Or
* What is sensitivity analysis?

UNIT—II1
3. Define Cost of capita].
Or
H .
! Lt:. 'SSues 12% perpetual preference
,Clolalmeutemth face valye of ¥2Q0 each.
oripute cost of Preference shares (assume
without tax).
UNIT—IV
4. What j
, IS meant by Financia] leverage?
S o
tate the assumpt; ' i
Income approac, p.tlons under Net Operating
UNIT—y
S. What g
0 you mean by ‘Playing the float™?

Or
What )
are the motives for holding cash?
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PART—B
( Marks : 50)

UNIT—I

6. What is Capital Asset Pricing Model (CAPM)?
~ Explain its assumptions and limitations.

Or

(@) Mr. X is planning on getting married in

' 10 years from now. He estimates the
wedding would cost him ¢ 5,00,000.
How much should Mr. X save annually
so as to have the required amount at
the end of 10 years? Assume an interest
rate of 12% p.a.

(b) You are valuing an investment that will
pay you ¥12,000; ¥14,000; ¥17,000;

¥ 19,000 and ¥ 23,000 in the first year
through the fifth year respectively. All
| payments are made at the end of each
year. What is the present value of the
investment if the appropriate discount
rate is 10%?

i

1
i

1
( .
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" 3+4+3=10
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UNIT—II

7. : -
Shillong Bright Ltd. is considering tWO

different investment proposals, A and B, and
the cash flow are ’

as under :
Proposal—A Proposal—8
In v v '
Evt?shnent cost: 9,500 20,000
Stimated income -
Year | 4,000 8,000
2 4,000 * 8,000
3 12,000
Su 4,500 ;
88est the most attractive proposal ont the
S of the tho

Consider: Net Present Value (NPV) m€
i ounnng that the future incomeS
**d at 12%. Also find out inte™”

aré

0
U (IRR) of the two proposal®; -1

From th Or 0

e . ) tw!
Compap; f°ll°ng details, relating wrn of
?°mpany » Calculate the expected retd n
2 rige 2% Qand standard deviat®”.

‘ m
(‘:Olflment casure of the two CompanS of

o O the return and risk estim?™
ompal'[ies :

0

(S)

UNIT—III

Equity share of a paper manufacturing
company is currently selling at ¥100. It
wants to finance its capital expenditure of
¥ 1,00,000 either by retaining earnings or
selling new shares. If company seeks to sell
shares, the issue price will be ¥95. The
expected dividend for next year is ¥ 475 per
share and is expected to grow at 6%
perpetually.

Calculate cost of internal and external equity
capital.

Or

K. G. Ltd. has provided the following

information and requested you to calculate—

(@) Weighted Average Cost of Capital
(WACC) using book-value weights;

(b) Weighted Marginal Cost of Capital
(WMCC) assuming that specific cost do
not change.

5+5=10

Source of Finance Amount Weights After tax cost
¢ (%) (%)
Equity Capital 14,00,000 0-452 9
Preference 8,00,000 0258 12
Capital
Debenture 9,00,000 0-290 16
D72/1495
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K. G Ltd wi . Compute the market price of the company’s
ca. ita;l f. Wishes to raise an additional quoted shares as per Walter’s model, if it can
prf of ¥12,00,000 for an expansion earn a return of (a) 15%, (b) 10%, (c) 5% on
gramme. The details of funds sources are its retain earnings. 10
as follows : )
) v
Equity Capita) 6,00,000 UNIT—V
Preference Capital
Deben P 3,00,000 0/10. What is working capital management?
tures 3,00,000 5+5=1 . . . .
s Explain the various factors influencing
working capital requirements. 2+8=10
UNIT—]V g cap 4
9. XLt or
f . and YLtd are
i . in th lass
i and are identicy) ; © same risk c (a) X Ltd. feels a Lock Box System (LBS)
L co In all respects except that . , .
O . company X Ltd. uses debt whi would reduce its debtors’ collection
| : Ltd. does not use dob ebt while compau’l};1 a5 period by 2 days. The average number
¥9,00,000 debenty  The l.evered firm f of daily payments is 50. Credit sales are
interest, Rogy, th 'es carrying 10% rate © £8,000 billed on a continuous basis,
Profit op their € firms earn 20% Opel""‘nrég | However, the cost of renting the Lock
The Compgapn .tfftaj assets of ¥ 15,00,000’ ‘ Box is ¥3,000 per annum. The bank
and cqp; v 181n the tax bracket of 35/’ charges for operating the LBS are
Share, Wlization rate of 15% on all equity €72,000. The interest is 15%. Should
Com ' | the system be introduced?
‘ Pute t . |
€t Income ¢ Of X Ltd. and ¥ Ltd. usi®é 49 f :
; (NT) approach. . | (b) Discuss Miller and Orr model of cash
| management. 5+5=10
The earn. Or ‘ )
Ings . 8
the ragt Per share of 5 company 18 ¢ e !
“ompan hae 1: f capitalization is 10%- Th g |
s . i A
(a) S0%, ) 7;{;2“3 It an option of adoz tl: f
Payoy; - ) 75% ang % divide L
Ut ratig, (c) 100% D72/1495
| ( Turn Over )
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PART—C
( Case Study )
I | ( Marks : 10)
» Consider the following particulars : :
Firm A . Fir ¢ B
Equity Sha, ;
! ¢ Capi .
| et Capita] 5,00,000 3,00,09
| Capita] 0 2,0000
| Total Cqp; 5,000%
) - [ apita] Employed W —5—’9'9&
I EBIT (x o '
o et Operat; ' 00
( 0l Intereg g 98 Income) n 7) 50,000 590
| On debt (in 7 | 0 10,00
| | t v, ‘ |
‘ | . . N rate jg S%) (in ?) _ 2,00,0
ngs (in & 40’000
iy gy 50,000
1 | pltahzaﬁo 12%
| Mareg e N rate 10% 33
: Totg) Valye ofot;equity\ (in &) 5,00,000 3’33’233
- Weigngeg aver, © fim (in ) 5,00,000 5% %
} S age cost of capita] ° 10% 9.33
| > A g
:’ He feels lnvestor, was 1% equity of firr”. g
, in § At by selj; i ehold’?
— ing off his shar €

Ine
JuStify, ease. Do you agree? Yes ©F
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